Soustraction Paques (J)

Obtenez un lapin pour chaque réponse correcte. Lapin Obtenu:

272 285 121 162
- 89 -92 -74 - 66
296 260 224 209
-174 -172 - 181 - 141
69 354 208 216
-11 -179 - 157 - 147
201 233 345 200
- 190 - 40 -176 -116
48 256 383 246
-43 - 197 - 197 - 98

/25

238

- 141
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Soustraction Paques (J) Réponses

272

- 89

183

Obtenez un lapin pour chaque réponse correcte. Lapin Obtenu:
285 121 162
-92 - 74 - 66
193 47 96
260 224 209

-172 -181 - 141
88 43 68
354 208 216
-179 - 157 - 147
175 51 69
233 345 200
- 40 -176 -116
193 169 84
256 383 246
-197 -197 -98
59 186 148

/25

238

- 141
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